%QTE %f@ﬁqzﬁﬁﬁl _ii;_
R 3-4-14 LtEEAR

EHAERES HIER

BEOERRIKR

WMHHEEEAMOIER

W] B E 2

(FESFAmE0)  ME RSO % fmk [ 20 3 2 & ik o

[~N\~o] [a

3 3

s 5 4

1 1

9 2

=5 5

B t

Al 5E.|- ;E%

S Z W W= i
THEOEE, [7;.'

—_— v aRE 7 H

— Y= el
TR ;’f,ﬁ

— TR




0 hp e el

HEFER

35 REDEREKR HHHEEEMOES HMHOHEREST HIER &u
BESRIEE 18.0n AN 18.0n e H N
® 4000 | 4000 | B
e
|
W
Gl}“

3-4-14 t?%i"EEEIﬁ

i | M-
hiVﬂ;

!Lﬁ
1] e

7=

8y
Jo

£

EEATD R

RET HEHE

BERTE DR

MY DR

|

Beik 3 5 Rig

W] DEE B

(FESFAmE0)  ME RSO % fmk [ 20 3 2 & ik o

[~N\Now] [a

Jo= -0 - w

i
BEMST dis- - » o

it o i i

ahh

=]
).

=t
i+

=i
bl

J.

14



HETER
Y 3 -5-19 IIFA

v

il

B NN Y
g A

BHHEZENOBA

BHHEATT HER
_ masE e EOHEE 50
16000 17500
3500 10500 3900 |

“éi?i&”

_ mmEEiLm RERL  sommm o
16000 16000

WHEEEEEIES W=17. 5m MHHELELIFH

W=17.5~T6. Om

_

A DEIEI=16. On

EAIRBIEHR L=43, 370m

I
& 5 & W " =
EEAOEE
—_— | RETHEHE
 |BEREORE
BT SR
C |BELETHEE

W] DEE B

(FESFAmE0)  ME RSO % fmk [ 20 3 2 & ik o

[~N+] [a

3 3
5 4
1 1
9 4
2 5
B t
]
PSR
7 H

S

o
=i
bl

(5] Y

).

=t
i+

15



tERBRE - ILTREERRE SRR
2
g, .

T Ptk Mt

S
@“@“Q_@‘%@ REARER §9° 00007
LD BEE 3e4-14 EE3985 2583085
%* tERER E EHERS = EHR
ERERAE B41E 2 F4E B SB4iE E18h N
HEHEE (Kn/h) 50 50 (44481 50 (451
ﬁf\?q’ BEEA M 3.00 3.25 3.25 *ﬁ
A N HEER/E M - - 30
e F—ri—Em = VxN6 = UxW6 lc=  Vxi-6 =
HEE = - = - lo = L=50x 3, 00/6=25, 000 =:J'
BiME = - = - lec = 20. 000 A
ERE = - = - lc = 25. 000 Y
N FRLTREM |1 = VXA 3 1= VxAn 3 T= VxAw-3 = VxAn-3 >(
HEE | = - | = 50%2.25/3=37.500 |1 = (50%2,25/3)=37.500 | | = (500, 75/3)=12, 500
P B | = - 1= 35.000 1= 35.000 | = 35.000
+ 5 - - = = =
) N EHE 1= 1 40. 000 1 40. 000 1 40. 000 P~
)
> 2 Z
$=1/200 WL
(‘D $=1/200 S =
@iﬁ
EEH RET D RiFN=11, 0n~17, 5y =
| - L i %
11000 12102 o
$
Sebo aalr 1 D
3250 3280 3250 1112 32 \
5 50 5 \
R AN Y & \ ‘ 1 '
N \ -
NI . =
! | ot \ E
. - © ///
B 4 10,208 | [ S
® = ?ﬁ x| Ra -2 i
S=1/200 @ 5=1,/200 - § 1 . ~ A 2
) a wm Z \ Dl
e HET ZRIN=17, 5n g o . S
S fL é "’
1750) T 1750} g
1050 3500 3500 10501 3500 ) I & g 1 - 3
boog 2 [ 3-4., ’
3260 ,.,3000,, 3250 3250 ,.,.3000,, . 3250 3 B i B " 14
o) 50 _ 3 g g & tg L] m o -
P b \ ’
EAR IR Sl - 5 : oy, 5
) b &2 : =
i = Bl " af# A-A s=1/200 B-B s-1/200 " km/h .
> b ] Dl = A 2
Bls 3}’5 5[5 1
= gle 3
- = 2 1
@ S=1/200 @ §=1/200 = @ ° “ HERE W=16, On et
I tl‘ = -+ nofio é
RET HEEN=17, 5n EEHL =
= : = £000
i T =
1750) 16400 =
f 3
10404 3500 4000 8 4000 ) = 5_\ ‘E
-+ NOgi1 I
3250 ..300 3250 3250 3250 i :
o) 50 g 3 ,E_l-
oA (IR
N
u y A0 W
I « Mo 5
m i = 2 F 5 & oy
EERMORS: =
h — ey R
o]

(FESFAmE0)  ME RSO % fmk [ 20 3 2 & ik o

BEMt did= - b -

5

Pl




TEME AR A AR ZE SR

T Ptk Mt

W] FE2

ol w l _—
:JM‘_LZ ) . TERRER 90° 00' 00
B A w \ EEE) 3-4-14 CEGES | 3-4-14 CERAR 3-3- smAlI R 3-3-SmAlIRR
/s ‘IIU\ N . \ M F EiE308s = E@d5s = CEaBEd E EHEAE
o IR LR E B4E BB B4 B 1R
S - 2 | BELEE (Kn/h) 50 20 80 60
— - S=1/200
BB s-1200 A=A ! b \ 1l EEEE ) 3.00 3.00 3.25 3.25
= H?i- HEERE 80. 0 30,0 30,0 30,0
BB R E T S Bisl=16.0~18. On AT ERFET 5 RiEN=18. 0m S—m i m F=—£m le=  VxWA6 le = VW6 le= VxW-6 le=  VxW/8
ﬁdﬁ | 3 \ i EHEf@E lc =L=50%3.00/6=25.0 |[lc =1=40x3,00/6=20.0 |lc =1=60x3,00/6=30.0 [lc =1=60x 3.00/6=30,0 n
LEG0R ‘ﬂrﬂ“ b B BoME le= 20,0 lo= 150 le= 30,0 le = 30.0
l 10341255 il lo =  25.0 lo= 200 Ic = 30.0 lo = 30.0
0 3600 2000 3500 f » "400 o] W \ m s ARY T FRM [ = VxJn3 T= VxAdw/3 T= V<73 T= VxAn'3
5 $p 3 H d e B HE-A ] | =L=50x1,50/3=25,0 || = L=40%1.50/3=20,0 [l = L=60x1.50/3=30.0 |l = L=60x1.50/3=30.0
= Ay e ] o400 BNE | = 3.0 = 30.0 I = 40,0 I = 40,0
140 1000 = I “H = 1RAfE 1= 35.0 I = 30.0 1= 40.0 1= 40.0
v & P9 = AN
2 \2
E\e
5 N | X %
b= E
=
S l
> \
. <
N 5-1) = 2% NP =
d | =k X, BN ¢
i g: %:b
E “N\a
& l 2 S p ;
= i
Kg 7 HE L=35.rit3:5 - c 2
—Fo 1, 50/3-25. 000 (BT <3 \ 1 2
Hon]+02400 )
k mmknu | ]
IE p =
1y 5 8 L S I TT I ==
. m ! ' g g ==
=~ 5 @ - — = | S £2
- =_ _ - = = =1 2
—_— = Ez,

[N ] [a

& \

. “/ LA. % §08g02. 33
\ i 3
3.4~ 14{:?%&\?53& FAFE2HR V=50km/h §a \ F—F s=1/200 G—G s=1/200 -
% \ - HTWHERTSHERENS100 | EEHERES HEEN16.0
§ ) 13000 | | 5
?E: MO, §+12.3) = d [ ]
« 3500 12000 3500 3500
1
= 1500 To0) 9
Els
T qﬂ {} {} =
w5 =
GC—C s=1/200 D-D s=1/200 B F
T by E—E s=1/200 .
| 15
2+0 A | w iz - BHHERET HEEN=0,0 | 5E_|-
5500 IB]'}QQ 5500 5500 18400 5500 | -
! Rl
i I R S Ry 71 | bt | a0 13000 250, E = S ?q
<é} {} ﬁ> @ {} ﬁ {} <ﬂ % @ \ ERE 00 000 S 0, Eﬂﬁij‘f:}fiﬁua}&ﬁ *%
| (113 {5 —_— | ETWETERET S
i % IRl 4e1
‘ T

-
v

(FESFAmE0)  ME RSO % fmk [ 20 3 2 & ik o

H&Ed did= - » -

i




